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Name: 

Daily Word Problem

answer: ____________________

2 0 0 3 6 3

A-71

Tara has 6 toy cars.

Hugo has 2 toy cars.

Uma has 1 toy car.

How many cars do they have in all?
Show your work.



Name: 

Daily Word Problem
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answer: ____________________

2 0 0 3 6 3

Juno has 9 red blocks 

He has 7 blue blocks. 

How many blocks does Juno have 
in all?

Show your work.

A-72



Name: 

Daily Word Problem
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answer: ____________________

A-73

2 0 0 3 6 3

Liz is counting by tens. 
She starts at 25.

25		 35		 45... 

What number will Liz say after 45?



Name: 

Daily Word Problem
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answer: ____________________

A-74

2 0 0 3 6 3

Mr. Brown has a farm.

He has 13 adult cows.

He has 6 baby cows.

How many cows does Mr. Brown 
have in all?

Show your work.



Name: 

Daily Word Problem
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A-75

answer: ____________________

2 0 0 3 6 3

Cal says 2 + 2 + 6 = 10.

Ella says 3 + 3 + 4 = 10.

Are they both right?		    ____________

Write another way to make ten by 
adding three numbers.

Show your work.



Daily Word Problem

ANSWERSA-71 through A-75
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answer: ____________________

Cal says 2 + 2 + 6 = 10.

Ella says 3 + 3 + 4 = 10.

Are they both right?     ____________

Write another way to make ten by 
adding three numbers.

Show your work.

answer: ____________________

Mr. Brown has a farm.

He has 13 adult cows.

He has 6 baby cows.

How many cows does Mr. Brown 
have in all?

Show your work.

answer: ____________________

Liz is counting by tens. 
She starts at 25.

25    35    45... 

What number will Liz say after 45?

answer: ____________________

Juno has 9 red blocks 

He has 7 blue blocks. 

How many blocks does Juno have 
in all?

Show your work.

answer: ____________________

Tara has 6 toy cars.

Hugo has 2 toy cars.

Uma has 1 toy car.

How many cars do they have in all?
Show your work.

16 blocks9 toy cars 55

Answers will vary.

yes

ex:

19 cows

6 + 2 + 1 = 9

1 + 1 + 8 = 10
1 + 4 + 5 = 10
1 + 2 + 7 = 10

9 + 7 = 16

13 + 6 = 19


